PUZZLES ~ BRAINS

8 BY 8 HITORI (NO. 11 AND 12)

SHADE (OR BLACK OUT) CELLS SO THAT THERE ARE NO DUPLICATE NUMBERS IN EACH
ROW AND COLUMN. SHADED (ELIMINATED) CELLS MAY NOT BE HORIZONTALLY AND
VERTICALLY ADJACENT. THE REMAINING WHITE CELLS MUST FORM A SINGLE
COMPONENT AND NOT BE ISOLATED.
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2

2

1

1

312(4]|6

1

31716864

1

71613[6]5

81216 |8[3[6(3]|7

5

31221382

5181315714163

1

51485514714

81512

313|14(6(2|5|5]|4

0808 NO. 11

N MmN |AN|[en | — | \O
<t | —|lOo|lN|ln|~|n|n
N |~ | <FT|[—|n [0 ||~
O ([eNn|AN|en | — | O |[—|W
N I[N |[O|[0|O|~|n
N (O |0 | —~ |~ |en | — | <
O |0 WnV|(~|en |0 | T | —
N (>0 A= |0 |

0808 NO. 12

www.puzzlesandbrains.com

copyright:



